CLASS : 10th (Secondary) Code No. 1905
Series : Sec. M/2017

Roll No. SET : A

CEIR]

SCIENCE
(Physics, Chemistry and Life Science)
(Academic/Open)
[ &=t g il A |
[ Hindi and English Medium |
(Only for Fresh Candidates)
( Morning Session )

THT : 3 g7 ] [ §7% : 60

Time allowed : 3 hours | [ Maximum Marks : 60

o T T FW T [F $H ToT-97 F FRT 497 27 &
Please make sure that the printed this question paper are contains 27

questions.

o G977 4 qlle7 & @l IV [/ T4 S T Fol § F OH FAC-JRTH % JEI-JT
77 [g)
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

 FYI G H FA [IGT & BT 7 TEc, JoT F BHI% AT @)
Before beginning to answer a question, its Serial Number must be written.

o FTCYRTH % diT T @Il g/ G T 88

Don't leave blank page/pages in your answer-book.

1905/ (Set : A) P.T.O.

Downloaded from cclchapter.com



(2) 1905/ (Set : A)
o FUTYRTHE % FANFT FHZ o e T&T A T STAEEAgErn & hd s fiar
Fav T e
Except answer-book, no extra sheet will be given. Write to the point and do
not strike the written answer.
o GUETE ST T To HIT-IH I ofavT g
Candidates must write their Roll Number on the question paper.

° FYT T F IFaT 37 G g7 I8 GERTT I T [ FT97 g7 7 78 & yher &
FYUT 59 T F g A qTar @E T8 RoAr A9
Before answering the question, ensure that you have been supplied the

correct and complete question paper, no claim in this regard, will be

entertained after examination.

qe: () T g7 AT &

All questions are compulsory.
(ii) TeGITe Jo7] % Tal [y g

Write the correct option in objective type questions.
(iii) §F G qIT T 7 SIaRE [@AEeT FT TTET 8

Internal choice has been provided in long answer type questions.
(iv) J9% F97 & &% IG% A7 TRN9 T &

Marks of each question are indicated against it.

que —
SECTION - A [ Marks : 20

1905/ (Set : A)

Downloaded from cclchapter.com



(3) 1905/ (Set : A)

(e forre)
(Physics)
1. AP o9 e W | T@R & gffse sar s ? o
(@) aT&iig® g e
(b) dRdfd® T Ieel
(c) oTHTEr qer diew
(d) STHREN T I

Eye lens forms which type of image on Retina ?
(a) Real and erect

(b) Real and inverted

() Virtual and erect

(d) Virtual and inverted

2. WD SMHIET H T il Bl 2, JHT B ¢ 1

(@) UEaT |
(b) ¥UEEH
() YU |
(d) fegaT 4@

1905/ (Set : A) P.T.O.
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(4) 1905/ (Set : A)

Colour of clear sky is blue due to :

(a) Reflection
(b) Refraction
(c) Scattering

(d) Dispersion

3. W= d @ 3 fagq &1 & 787 asnan ? 1
2 r
@ I'R (0) =
V2
© VI @)

Which of the following term does not represent electrical power in

circuit ?
1'2
I’R b) —
(a) (b) R
VQ
VI d —
() (d) R
4. T ¥ BT ol B YRURS ONd 78 & ? 1

1905/ (Set : A)

Downloaded from cclchapter.com



(5) 1905/ (Set : A)
(a) itemedl gem (b) QX FHuit

(c) o fagg (d) a9 g

Which of the following is not a conventional source of energy ?

(@) Fossil fuels (b) Solar energy
(c) Hydropower (d) Thermal power
5. Foll & T BN & HT T B & ? 2

What are the characteristics of a good source of energy ?

6. 59 Fi fgg &eX gy ¥d & 5 A fgg a0 aar 8, a9 Se& chival & 9
ReaiaR 80 V 81 36 w99 fagq &iex el fgq arT o, 19 fawEiaR @ 160 V
% Sl faar s ? 2

The potential difference between the terminals of an electric heater is

80 V, when it draws a current of 5 A from the source. What current will

the heater draw, if the potential difference is increased to 160 V ?

7. S 9l % P | oRiE 9 wEeely e Y o § 7 2

How the construction of large dams cause Economic and

Environmental problems ?

1905/ (Set : A) P.T.O.
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(6) 1905/ (Set : A)
8. T% [T @ & IWENT &Xd gL, Tk Il «F & F1 T91 2F; & o W {69 &

gfafdls @ Refy, 7RG STER q° JHid # I HifoT 4

Using a ray diagram, explain the position, relative size and nature of

image of an object placed between the F1 and 2F; of a convex lens.

9. fagq WX & THilRd ARG Tifew 3HH Rreiq qur wEfaR we Hifm gy
e | fqwe 999 #1 F1 qed ® 7 6

Draw a labelled diagram of an electric motor. Explain its principle and

working. What is the function of split ring in an electric motor ?

AYqT
OR

(2) T & AT faw &t affa s 2

Explain Right hand thumb rule.
(b) R RER AR WA F BROT GEBE A BN AU FOMW 4

Describe the magnetic field due to current through a circular loop.

gug - g
SECTION - B [Marks : 19

1905/ (Set : A)
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(7) 1905/ (Set : A)
(vaE fasm)

(Chemistry)

10. WE-T W TF BRSNS o S/ & F41 Bkl & 7 1

(a) RSN W T SR FANGE ST B

(b) T NG TG AR EESIEES a9 B
(c) g Al & & B
(d) STERE T TG S ST B

What happens when dilute hydrochloric acid is added to iron fillings ?
(a) Hydrogen gas and iron chloride are produced.

(b) Chlorine gas and iron hydroxide are produced.

(c) No reaction takes place.

(d) Iron salt and water are produced.

11. & @@ & pH & 99 9 81 I8 fawa 1
(a) IO ST B
(b) Y9 &NE B
(c) ITd@ oI o

1905/ (Set : A) P.T.O.
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(8) 1905/ (Set : A)
(d) 3@ & R

A solution showed pH 9. This solution is :
(@) Strongly acidic

(b) Strongly alkaline

() Weakly acidic

(d) Weakly alkaline

12. TF WA & Ioaeih @€ 2, 8, 7 8l Feirad § 4 fha dd & a1 gaah
TEEE T SR P (GRET] S Hed | & T 9) ;1

(a) N(7) (b) F(9)
() H15) (d) An(18)

An atom has electronic configuration 2, 8, 7. To which of the following

elements would it be chemically similar ? (Atomic numbers are given in

parentheses).
(@) N(7) (b) F(9)
(© A19) (d) Ar(18)

13. SIS SARfhar | oy g9 § ? 0% Sereiv i 2

What do you understand by endothermic reactions ? Give one example.

1905/ (Set : A)

Downloaded from cclchapter.com



(9) 1905/ (Set : A)
14. 7 gied BT § 99 T@H & 373 K W ™ fFar o ® ? 39 o0 v9EEte
TR T 2

What happens when gypsum is heated to 373 K ? Give chemical

equation for it.

15. SR ° fFE oMU W aw@l @l eIl R ? IEeer ity 2

Which property did Dobereiner use to classify the elements ? Give

example.

16. (a) SaTEXYT Hieq BT IO & a0 HiferQ) 2

Explain reactivity series with examples.

(b) rar g Giaw e argelt & g fokag) 2

Write constituents of Bronze and Brass.

17. =1 ufskanetl &1 guig FHifiT : 2x3=6

Describe the following processes :
(i) TEHO
Esterification

(i) HTgIRT

1905/ (Set : A) P.T.O.
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(10) 1905/ (Set

Saponification
(ili) BT
Hydrogenation
AYTT
OR

P Al B AATG B (g AR Bt 6

Explain in detail the Nomenclature of carbon compounds.

qls -4

SECTION-C [ Marks : 21
(Shar forsm)

(Life Science)

18. SPRIVTST & IR i Bl & 7 1
(@) ERIRE (b) Me T
(c) T PIam (d) ¥ F FE T&

Sperms are produced by :

1905/ (Set : A)
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19.

20.

21.

(11) 1905/ (Set : A)

(@) Seminal vesicle (b) Prostate gland

() Scrotum (d) None of these
STEfteed & e el U AT erdl © ¢ 1
(@) S$ (b) &

(© w (d) & @k

In Bryophyllum, the buds are produced on :

(@) Root (b) Stem
(c) Leaves (d) All of these
HIF-1 Sa FAIR BN I 8 7 1

Which organism cause Kala-azar ?

MHTET HIF-F A @Y W o & 7 1
(@) "I| (b) faa=
(c) e (d) =g

The herbivores come at which trophic level ?

1905/ (Set : A)

Downloaded from cclchapter.com
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22.

23.

24.

25.

26.

27.

(12) 1905/ (Set : A)

(@) First (b) Second
(¢) Third (d) Fourth
RIGERCI I R IR el 1

Define ecosystem.

A @=RoT @ 8N awil g7 St & 9 ey 2

Name four sexually transmitted diseases.

TEEgA #1 & ! TF &0 A 2

What is geotropism ? Give an example.

IRt SRITITEHT I AATHIhT o= SET) 2

Draw a well labelled diagram of a neuron.

AR FRfEAR fF TR Bkl & ? 4

How does the mechanism of hereditary work ?

qeql H IS B U it 6

1905/ (Set : A)
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(13) 1905/ (Set : A)

Describe the excretion in plants.

AYqT

OR

et dreor @t R gt @ e i 6

Describe various strategies of heterotrophic nutrition.

1905/ (Set : A) P.T.O.
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CLASS : 10th (Secondary) Code No. 1905
Series : Sec. M/2017

Roll No. SET : B

CEIR]

SCIENCE
(Physics, Chemistry and Life Science)
(Academic/ Open)
[ &=t g il A |
[ Hindi and English Medium |
(Only for Fresh Candidates)
( Morning Session )

THT : 3 g7 ] [ §7% : 60

Time allowed : 3 hours | [ Maximum Marks : 60

o T T FW T [F $H ToT-97 F FRT 497 27 &
Please make sure that the printed this question paper are contains 27

questions.

o G977 4 lle7 & @l IV [79 T4 IS T Fol § F OH FAC-JRTH % JEI-JT
77 [g)
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

o FYI IS H FA [IGT & BT 7 TEc, JoT F BHI% AT @)
Before beginning to answer a question, its Serial Number must be written.

o FTCYRTH % diT T @Il g/ G T 88

Don't leave blank page/pages in your answer-book.

1905/ (Set : B) P.T.O.

Downloaded from cclchapter.com



(2) 1905/ (Set : B)
o FUTYRTHE % FANFT FHZ o e T&T A T STAEEAgErn & hd s fiar
Fav T e
Except answer-book, no extra sheet will be given. Write to the point and do
not strike the written answer.
o GUETE ST T To HIT-IH I ofavT g
Candidates must write their Roll Number on the question paper.

° FYT T F IFaT 37 G g7 I8 GERTT I T [ FT97 g7 7 78 & yher &
FYUT 59 T F g A qTar @E T8 RoAr A9
Before answering the question, ensure that you have been supplied the

correct and complete question paper, no claim in this regard, will be

entertained after examination.

qe: () T g7 AT &

All questions are compulsory.
(ii) TeGIT Jo7] % T&l [y g

Write the correct option in objective type questions.
(iii) §F G qIT T 7 SIaRE [@AEeT FT TTET 8

Internal choice has been provided in long answer type questions.
(iv) J9% F97 & &% IG% A7 TRN9 T &

Marks of each question are indicated against it.

que —
SECTION - A [ Marks : 20

1905/ (Set : B)

Downloaded from cclchapter.com



(3) 1905/ (Set : B)

(ffers frem)
(Physics)
1. S0 & 69 99@ & FRO ar feAfend € ? 1
(a) TUEE (b) &S
(c) fasTer (d) mET

Stars twinkle due to which phenomenon of light ?
(a) Refraction (b) Reflection

(c) Dispersion (d) Scattering

2. 3G H 98 9N S g & Y9 B Al FeBieT bl AT By [ et 2 1

(a) W Hsd (b) AR

(c) uRa (d) gal

Part of eye that controls the amount of light entering into the eye :
(a) Cornea (b) Eyeball

() Iris (d) Pupil

3. foreh fagpg s 1 oA 220 V, 200 W B1 919 3@ 110 V W S0 B &
09 36% &)1 IUYH S el el & ? 1

1905/ (Set : B) P.T.O.
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(4) 1905/ (Set : B)
@ 75W (b) 100 W

() 150 W (d) 50 W

An electric bulb is rated 220 V and 200 W. When it is operated on 110

V, the power consumed will be :

(@ 75W (b) 100 W
(0 150W (d) 50 W

4. feRad § 9 Sq9ET St AT H IS TR ? 1

(a) Bl (b) MR 4
(c) BT Tt (d) TR

Which of the following is not an example of a biomass energy source ?

(@) Wood (b) Gobar gas
(c) Nuclear energy (d) Charcoal
5. UaT &Holl & ST B B ;N G B ? 2

What are the limitations of harnessing the wind energy ?

1905/ (Set : B)
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(5) 1905/ (Set : B)
6. fogq Iy U [Egq 3ol & A ofegd S 91 & 1 SR fhe g @
F IA1C A & 7 2

Why are the coils of electric irons and toasters are made of an alloy
rather than a pure metal ?

7. 9Rd & el @ Todi B S 989 % TN dds ey 2

Write ancient methods of water harvesting in any two states of India.

8. T% [0 ARG H IWN #d g, Th Iud «F & 2F1 & W Ryd &9 % wicfds
% Reffy, TR STER T JSid @l S Hivl 4

Using a ray diagram, explain the position, relative size and nature of
image of an object placed beyond 2F1 of a convex lens.

9. TMifhd ARG Wiex Rl faggq e &1 Ao Raesia dqen wEifafy wee #ifm gait
H R FE S 7 6

Explain the underlying principle and working of an electric generator

by drawing a labelled diagram. What is function of Brushes ?

ST
OR
(a) TARHT & amesd O9 @ G849 § U die 2

Briefly explain the Fleming's left hand  rule.

1905/ (Set : B) P.T.O.
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(6) 1905/ (Set :

(b) Wﬁwﬁaﬁww%wg&aﬁq%ﬁwwmm 4

Describe the magnetic field due to current in a solenoid.

gus -
SECTION - B [ Marks : 19
(v fom)
(Chemistry)

10.2Pb(NO; ), (s)—2 N5 2PbO(s) + 4NO,(g) + O,(g) T8 SRR & & 1
(a) foremE (b) FH faom
() HAeH (d) SeaTerdt

2Pb(NO3 )5 (s)—C8Y 5 2PhO(s)+ 4NO,(g) + O4(g) This reaction is :

(a) Displacement
(b) Thermal decomposition
(c) Combination

(d) Exothermic

11. TEifes Sv U ST & 1
(@) dEl & EH H
(b) T & €% H
(c) ®au #

1905/ (Set : B)
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(7) 1905/ (Set : B)
(d) e

Acetic acid is found in :
(a) Sting of an Ant
(b) Nettel's sting

(c) Orange

(d) Vinegar

12. H<dl% & ofEd arel | e a8 § 7 1
(@ 18 (b) 16
(c) 8 (d) 6
How many groups are there in Mendeleef's Periodic Table ?

(@) 18 (b) 16
(c) 8 (d) 6

13. GO AR @ Y I TG © 7 G &l a2
What do you mean by combination reactions ? Give one example.

14. CaOCl, F Jafd 99 F1 2 ? 30BN a9 &l TR STrbear i 2
What is the common name of CaOCl, ? Give the chemical reaction by
which it is prepared.

1905/ (Set : B) P.T.O.
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(8) 1905/ (Set : B)
15. SH & oTCH (G W B & QA [ 2

Write any two limitations of Newland's Law of octaves.

16. (a) SHAYH! oifedzs #1818 ? & SHAYH oifFdgs! & Saey dvl 2

What are amphoteric oxides ? Give two examples of amphoteric

oxides.
(b) TEIq STqEeHr s W Eiere e foim 2

Write brief note on Electrolytic Refining.

17. 1 9fed Br & o9 Uy e & o ofifer #ar g 2x3=6
What happens when ethanol reacts with the following :
(i) oTiIpd TNeREH STFhiAe

Acidified potassium dichromate
(ii) wifeTm

Sodium
(i) T HE H,SO,

Hot. Conc. H,SO,

1905/ (Set : B)
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(9) 1905/ (Set : B)
SUYRT ARAeT @ fer et e S
Give chemical equations for above reactions.
HYAT
OR
HIgT % B3 kAT &1 Bhaaf aeEmE 6
Explain the mechanism of cleaning action of soaps.
gug -9
SECTION-C [ Marks : 21
(Sher forsm)
(Life Science)
18. wioitead fhad fawiiom g & ? 1
(@) faE=d
(b) wgEeT
1905/ (Set : B) P.T.O.
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(10) 1905/ (Set : B)
(c) (a) AR (b)

(d) HEed

Plasmodium divides by :
(a) Binary fission

(b) Multiple fission

(c) Both (a) & (b)

(d) Budding
19. widel fpee TIHaRer § He™ar &Y & 7 1

(@) SIS

(b) I

(c) oTufdre uare

(d) T gft

Placenta helps in transferring of :

(@) Oxygen
(b) Glucose

(c) Waste substances

1905/ (Set : B)
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20.

21.

(d) All of these

FHHTOT 1 B 7

What is Germination ?

fada SURTT -9 A T W oM & 7

(@) UIH

(b) facim

(0 T

) =gd

Secondary consumers come at which trophic level ?
(a) First

(b) Second

() Third

(d) Fourth

1905/ (Set : B)

1905/ (Set : B)

P.T.O.

Downloaded from cclchapter.com



(12) 1905/ (Set : B)
22. g f=ieeig g F#@ B g ? 1

What are biodegradable substances ?

23. BES d Yoo Yy & quie i 2

Describe the process of budding in Hydra.

24. TR ST ¥ WAl & #0 wE B P @ wiedl & aR # ffgw
2

What is the function of receptors in our body ? Write about two types

of receptors.

25, Yfoadt a9 & AHithd R sEET 2

Draw a well labelled diagram of Reflex arch.

26. TS & TAM | &Y T T {6 A qE©T W €9 q dg@ ed & ¢ 4

How do Mendel's experiment show that traits are inherited

independently ?
27. i § GEH H g9 BT 6

1905/ (Set : B)
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(13) 1905/ (Set : B)
Describe digestion in small intestine.
S
OR
qME # a8 dF U e 6
Describe the respiratory system of human beings.
1905/ (Set : B) P.T.O.
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CLASS : 10th (Secondary) Code No. 1905
Series : Sec. M/2017

Roll No. SET : C

CEIR]

SCIENCE
(Physics, Chemistry and Life Science)
(Academic/ Open)
[ &=t g il A |
[ Hindi and English Medium |
(Only for Fresh Candidates)
( Morning Session )

THT : 3 g7 ] [ §7% : 60

Time allowed : 3 hours | [ Maximum Marks : 60

o T T FW T [F $H ToT-97 F FRT 497 27 &
Please make sure that the printed this question paper are contains 27

questions.

o G977 4 lle7 & @l IV [79 T4 IS T Fol § F OH FAC-JRTH % JEI-JT
77 [g)
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

o FYI IS H FA [IGT & BT 7 TEc, JoT F BHI% AT @)
Before beginning to answer a question, its Serial Number must be written.

o FTCYRTH % diT T @Il g/ G T 88

Don't leave blank page/pages in your answer-book.

1905/ (Set : C) P.T.O.

Downloaded from cclchapter.com



(2) 1905/ (Set : C)
o FUTYRTHE % FANFT FHZ o e T&T A T STAEEAgErn & hd s fiar
Fav T e
Except answer-book, no extra sheet will be given. Write to the point and do
not strike the written answer.
o GUETE ST T To HIT-IH I ofavT g
Candidates must write their Roll Number on the question paper.

° FYT T F IFaT 37 G g7 I8 GERTT I T [ FT97 g7 7 78 & yher &
FYUT 59 T F g A qTar @E T8 RoAr A9
Before answering the question, ensure that you have been supplied the

correct and complete question paper, no claim in this regard, will be

entertained after examination.

qe: () T g7 AT &

All questions are compulsory.
(ii) TeGIT Jo7] % T&l [y g

Write the correct option in objective type questions.
(iii) §F G qIT T 7 SIaRE [@AEeT FT TTET 8

Internal choice has been provided in long answer type questions.
(iv) J9% F97 & &% IG% A7 TRN9 T &

Marks of each question are indicated against it.

que —
SECTION - A [ Marks : 20

1905/ (Set : C)

Downloaded from cclchapter.com



(3) 1905/ (Set : C)

(s o)
(Physics)
1. Qed & o7 g & 1 a9 | R & Res dar § 7 1
() W& (b) STHaRH
(c) fergraor (d) SEhIo
Colour of the sun at sunrise is red due to :
(a) Reflection (b) Refraction
(c) Dispersion (d) Scattering
2. 5 H I8 G SN gAal & AHR B R B g 1
() =MEH (b) =B Hed
(c) ufaee (d) e
Part of the eye that controls the size of the pupil is called as :
(@) Eyeball (b) Cornea
() Iris (d) Retina

3. % T4 & AR & ST HIC &% S of (@d §Q, & ars Al H al
S, o 38l S 1

(2) & TA & S (b) ot & S

1905/ (Set : C) P.T.O.
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(4) 1905/ (Set : C)
(c) Sl & (d) 399 & P T

If the length of copper wire is doubled keeping same area of cross-

section, its resistivity will :

(a) Doubled (b) Halved
(c) Remains same (d) None of these
4. IENE § waieE qEn e ¢ 1
() W (b) 1T SIS
(c) & (d) ERRT

Maximum content of Biogas is :

(a) Methane (b) CO,

(c) Ethane (d) Hydrogen

5. IR F1 &1 8 ? I8 b Ueh 37T 389 & ° 2

What is charcoal ? How it is a good fuel ?

1905/ (Set : C)
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(5) 1905/ (Set : C)
6. B 60 UtRiy®s A gfd dwe 150 J 1 3T 2 W Bl gfekigs & R

foraiae sma ik 2

150 Joule of heat is produced each second in a 6 Q resistance.

Find the potential difference across the resistor.

7. A% A9 T P B9 F GO H g T B 7 2

What are the advantages of water stored in the ground ?

8. [0 SRE # T ¥ T 3Gad U & Fobhal % C ¥ W Rog g & ufafss
% Reffd, TR T YPha & i Hiforgl 4

Using ray diagram, explain position, size and nature of image of an

object placed beyond centre of curvature C of a concave mirror.

9. Yuhid & H 1@ [hdl fgq qNEE! = W & il 9 H a0 IOl 36 a9
H f2 O FE A FEH B I FG 98 -4 3 © S gy aRmEme
I T YD & B SUART BT § 7 441 +1

1905/ (Set : C) P.T.O.
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(6) 1905/ (Set : C)

Explain the force on a current carrying conductor in a magnetic field.
Write about the rule to find direction of this force. What are the devices

in which current carrying conductors and magnetic fields are used ?

AYqT

OR

R Y @& THifed e Wit see e qun skl T Hie faEq
Hex | fqwe 999 #1 F1 qed ® 7 6

Draw a labelled diagram of an electric motor. Explain its principle and

working. What is the function of split ring in an electric motor ?

e - §
SECTION - B [Marks : 19
(v fam)
(Chemistry)

10. F6203 +2Al —> AZQO3 + 2Fe

S & T AR H e STTeE g © ¢ 1
(a) FeyO3 (b) Al

() ALOjz (d) 3 | @5 Tl

1905/ (Set : C)
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(7) 1905/ (Set : C)
Fe,Oy +2Al — Al,O + 2Fe

Which is reduced in above reaction ?

(a) FeyO3 (b) Al
(c) AlO5 (d) None of these
11. fafes v wmn o ® ¢ 1
(a) AR ¥ (b) g &
(¢ g # (d) T2 gg |

Citric acid is found in :
(@) Tomato

(b) Tamarind

(c) Lemon

(d) Sour milk

12. @@ X, XCl, g3 9l Uh KNGS Sl ol Ed 9ol § 98 d gwad: 6

HYE & SHd BN ? 1
(@ Na (b) Mg
() St d) Al
1905/ (Set : C) P.T.O.
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13.

14.

15.

16.

(8) 1905/ (Set : C)

Element X forms a chloride with the formula XCI, . X would most likely
be in the same group of the periodic table as :

(@) Na (b) Mg

() St (d) Al

foreenos arffokar @ o9 o w9 B ? 0% Seee dfsw 2

What do you mean by displacement reaction ? Give one example.
IR qut T T ? TEH S Sial OX & q9E e 5 7 2

What is Acid Rain ? How does it affect aquatic life ?

AT FPHR IF 4 B T T F F @I TR Y2
According to you, why noble gases are placed in a separate group ?

() omafTE ARTE fFY ofawen § U@ S & ? 3% o offYe @ e B 7
p)

In which state ionic compound exists ? Why do they have high

melting point ?

(b) @fkE aoff § A9 o Al ergett & gl & ol i 2

Explain the extraction of metals low in reactivity series.
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17. HE AR & FiaRad IO & Saeer |fed 9o Hie : 2x3=6

(i)  SiferdiRTeT SAffhaT

(i) e ATHfHAT

(iti) SfereTae iR

Explain with examples the following properties of carbon compounds :
(i) Oxidation Reaction

(i) Addition Reaction

(iii) Substitution Reaction

e
OR
(@) U= % gf guEEal # =N Rba #fvw 3

Draw the structures of all possible isomers of pentane.

(b) = At @ dXamT BF v : 1x3=3

(i) TrEH or

(i) B

(i) A

Draw the structures for the following compounds :

(i) Ethanoic acid
(i) Hexanal

(iii Butanone

1905/ (Set : C) P.T.O.
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gug - |

SECTION-C [ Marks : 21
(St fomTm)
(Life Science)

18. ffoRad & $i-|1 S Jhs o e dxar s ¢ 1

(a) SfffFRE (b) WEEHE T

(c) oo (d) & & #g T

Which of the following hormone inhibit the growth ?
(a) Auxin

(b) Cytokinin

() Gibberellin

(d) None of these

19. fFrfaiad & & S-a1 9@l W8 § 7 1
() TG
(b) SiHT
(c) s
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20.

21.

(11) 1905/ (Set : C)
(d) T8 | B &

Which of the following is future shoot ?
(a) Radicle
(b) Plumule

(c) Cotyledon

(d) None of these

Frfiad & & o YaT 8 arel S STefs &9 8 = 8l & 7 1
(@) dfe s+

(b) oTifEs 9
() FH Yads
(d) I gd

In which of the following, the organisms produced are genetically
dissimilar ?

(a) Sexual reproduction

(b) Asexual reproduction

(c) Vegetative propagation

(d) All of these

FIE TaE B @ TSad B A fARaw 1
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22.

23.

24.

25.

26.

27.

(12) 1905/ (Set : C)

Write down the names of two methods of vegetative reproduction.

gfeig e o R e § 7 1
What is peripheral nervous system ?

AR R Age & FEl B R 2

Write down the functions of cerebellum and medulla.

TR % AR Sg 9o X g 9o T § 7 2

What are the various biotic and abiotic components of Ecosystem ?

T 0 & e HT H AIE o SR

Draw a well labelled diagram of Longitudinal section of a flower.

Sl Ml BT TETEX A §Y PRA FAT B AU HW 4

Describe the artificial selection by giving example of wild cabbage.

JHAY] Sl AT B U BT SR I e JhR AR Bl © 7 6
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Downloaded from cclchapter.com



(13) 1905/ (Set : C)
Describe the structure of nephron and how is urine produced ?

YT

OR

(i) UHIT FLATOT M T ? ZH WEH B AW oM aril A geeel @ fafew
1+3=4

What is photosynthesis ? Write various events which take place

during this process.
(i) o R TR gad AR 9% 3 © 7 2

How does the opening and closing of stomata take place ?
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Roll No. SET : D

CEIR]

SCIENCE
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(Academic/ Open)
[ &=t g il A |
[ Hindi and English Medium |
(Only for Fresh Candidates)
( Morning Session )

THT : 3 g7 ] [ §7% : 60

Time allowed : 3 hours | [ Maximum Marks : 60

o T T FW T [F $H ToT-97 F FRT 497 27 &
Please make sure that the printed this question paper are contains 27

questions.

o G977 4 lle7 & @l IV [79 T4 IS T Fol § F OH FAC-JRTH % JEI-JT
77 [g)
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

o FYI IS H FA [IGT & BT 7 TEc, JoT F BHI% AT @)
Before beginning to answer a question, its Serial Number must be written.

o FTCYRTH % diT T @Il g/ G T 88

Don't leave blank page/pages in your answer-book.
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(2) 1905/ (Set : D)
o FUTYRTHE % FANFT FHZ o e T&T A T STAEEAgErn & hd s fiar
Fav T e
Except answer-book, no extra sheet will be given. Write to the point and do
not strike the written answer.
o GUETE ST T To HIT-IH I ofavT g
Candidates must write their Roll Number on the question paper.

° FYT T F IFaT 37 G g7 I8 GERTT I T [ FT97 g7 7 78 & yher &
FYUT 59 T F g A qTar @E T8 RoAr A9
Before answering the question, ensure that you have been supplied the

correct and complete question paper, no claim in this regard, will be

entertained after examination.

qe: () T g7 AT &

All questions are compulsory.
(ii) TeGIT Jo7] % T&l [y g

Write the correct option in objective type questions.
(iii) §F G qIT T 7 SIaRE [@AEeT FT TTET 8

Internal choice has been provided in long answer type questions.
(iv) J9% F97 & &% IG% A7 TRN9 T &

Marks of each question are indicated against it.

que —
SECTION - A [ Marks : 20
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(Mt )
(Physics)
1. QO & o9 2 & 1 A e R R dar § 7 1
() ORI (b) ferdraqer
() S (d) ergadH

The colour of the sun at sunset is red due to :

(a) Reflection (b) Dispersion
() Scattering (d) Refraction
2. T8 qaal frectl T St ST A5 H qasT 3 1
(a) wAME (b) W Hed
(c) uRa (d) goeh
Thin membrane through which light enters the eye is called as :
(a) Eyeball (b) Cornea
() Iris (d) Pupil

3. R Rl Ui & AR @ R B gUEd (@A g SEh SR HT AE I

& T HT I S, @ I AR Sl Afeeehe 1
(@) o & TR (b) & T B S
1905/ (Set : D) P.T.O.
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(c) T & S (d) 379 q FE &

If the cross-sectional area of an Aluminium wire is doubled and length

remaining same, its resistivity will :

(a) Remain same (b) Doubled

(c) Halved (d) None of these

4. FEM IR T HARW FRE PR d FEltad § d B S & g o

BT ® ? 1
() e Sl (b) TR¥EHT SHeit
(c) ETdT FHoft (d) G Fei

Artificial satellites and space probes uses which of the following as the

main source of energy ?

(@) Wind energy (b) Nuclear energy
(c) Tidal energy (d) Solar energy
5. SN UF 37T 399 || 8 7 2

Why Biogas is a good fuel ?
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6. B3 gy Aex 220 V & gy 9d § 4.0 A fEEY o) aa@ 81 WeX @ AfF

FgiRa T qar 3 62 § HieX a0 UG ol Rk S 2

An electric motor takes 4 A from a 220 V line. Find the power of the

motor and energy consumed in 3 hours.

7. S 9K U P T A & 7 2

What are the advantages of watershed management ?

8. hol oT@ & IWERT Hd §U Th e a4°1 & B F o1 &bl & C & e
Req fiT & ufafds @ Rafd, STER Jo0 FPia # afld Sk 4

Using ray diagram, explain position, size and nature of image of an
object placed between focus F and centre of curvature C of a concave

mirror.

9. fEl WY = ¥ fagq 9 Yaed BN % HRO IO~ B Al gEhd & H
qui T 30 e & &l R gqm art | & e i 6

Explain the magnetic field due to current through a straight conductor.
Describe the rule to find the direction of such a magnetic field.

AYqr
OR
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iR STRE ieet el fagq Jfe &1 qa Risia qun #rfa we St gt
&R FA S 6

Explain the underlying principle and working of an electric generator
by drawing a labelled diagram. What is function of Brushes ?

gug -
SECTION - B [ Marks : 19
(vam fast)
(Chemistry)
10. T30 8T I B G F1 & ? 1
(@ CaO (b) Ca(OH),
(c) CaCOs (d) CaSOq4

What is formula of slaked lime ?

(@) CaO (b) Ca(OH),
() CaCOs (d) CaSO,
11. TR =T IRT ST @ 1
(a) B
(b) e & S% H
(c) THEX |
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(d) e H

Tartaric acid is found in :
(@) Vinegar

(b) Nettle's sting

(c) Tomato

(d) Tamarind

12. M 9T & sael 3 STfwdy 9 § ¢ 1
(a 8 (b) 32
(0 18 (d) 10

Maximum number of electrons in M shell are :

() 8 (b) 32

(c) 18 (d) 10

13. ey ARGRT | oMY F gHEQ § ? 0% Saeiv i 2

What do you mean by Precipitation reaction ? Give one example.

1905/ (Set : D) P.T.O.
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14. FA-4X haT 69 @ed & ? THEG GHieel N 9HeEl 2

What is chlor-alkali process ? Explain with the help of a chemical

equation.

15. MY T qRen 7 difcass T e JoreH o § &9 qRakid aid & ¢ 2

What happens to the metallic and non-metallic character of elements in

the Modern Periodic Table as we move along the Period ?

16. (a) U (Jo e - 13) 9 @ (o H&AT - 16) & TAFMH (a2
et 2

Write electronic configuration of Aluminium (At. No. - 13) and

Sulphur (At. No. - 16).

(b) WifeTH B FRUIRH § &I B | @M Ao ! 2

Why is sodium kept in kerosene oil ?

17. (a) 99 it § SORX Affe & ded # frefoRad & orax fafa : 1 x
3=3

What is the difference between two consecutive homologous ?

1905/ (Set : D)
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(i) ofvas ZTHH

In terms of molecular mass

(i) S T SISO GTHATLSAT &l GEa

Number of carbon and hydrogen atoms

(iii) THEFS o0

Chemical properties

(b) =1 ARt & THBT HIOT 1x3=3
Write the names of the following compounds :
(i) CHz-CH,-CHO
0
[
(i) CH;-C-CH;,

(111) CH3 —CH2 —CH2 — Br

OR
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(@) YA & oMY UEhied U4 Freifedicied oFd § 9 oWk d 9hd & ¢ 4

How would you distinguish experimentally between an alcohol and

carboxylic acid ?

(b) TIHA % & ITAN faraT) 2

Write two uses of Ethanol.

g -9
SECTION-C [ Marks : 21

(cftr fo)

(Life Science)

18. ffafad § & @i9-W sfa-omd iy 787 8 ? 1
(a) o=HA (b) TEG
(c) otfeges (d) T7H § H1Z T
Which of the following is not an Endocrine gland ?
(@) Thymus (b) Parathyroid
(c) Adrenal (d) None of these

19. 9@ { Haf[ &= fhad Red § 7 1
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(a) oTUHRTSh
(b) HEHRASH
(c) USTHRTSR
(d) T gt

The centre associated with hunger is present in:

(@) Fore brain
(b) Mid brain

(c) Hind brain
(d) All of these

20. g9 I &7 & S gU9T HIA F F R B g7
1

Why are the testes located outside the abdominal cavity in scrotum ?

21. fraffad § & S SR e & T B g7
1

(2) HE, Tg T A
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22.

23.

24.

25.

(12) 1905/ (Set :

(b) €, FHU T A

(c) &, T aur el

(d) =T, "ol T Thd

Which of the following constitue a food chain ?
(a) Grass, Wheat and Mango

(b) Grass, Goat and Human

(¢) Goat, Cow and Elephant

(d) Grass, Fish and Goat

g g & A feaiRa S
Write full form of UNEP. 1
SN TN $ T UWE § 7 2

What is the effect of hormone Adrenalin ?

T I dF @ g IRE & 9 iR o9 i farau 2

D)

Name various glands associated with male reproductive system & write

their role.

A4 & S O @0 AHihd o S98dl 2
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Draw a well labelled diagram of human female reproductive system.

26. AMd % [ & oI Hifo 4

Describe the evolution of Homo sapiens.
27. e AR WyEishiaw fFe TR SO S T8 FR T & 7 6

How is the food taken and digested in Amoeba and Paramecium ?

HAYAT
OR

AHH T B ? STH g8 9 YHK Sl § ¢ 39 I HE & °
6

What is lymph ? How is it transported ? What are its functions ?
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